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ged(4, 2) = ? | ged(30, 24) = ?
2)4, 2 2) 30, 24
2,1 3) 15, 12
5 4
gcd@, 2) = 2
ged(30, 24) =2 X 3 =6
|
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a % b = (0°]9, a % b =0°] o4,
gcd(a, b) = beltt. ged(a, b) = ged(b, a % b)o|tt.
ged(a, b)oIM |+ ged(a, b) = ged(@, 2) | «ged(a, b) = ged(30, 24)

4 % 2 = (°|BE,
* gcd(4, 2) = 20t}
AR 1 gcd(2, 0 = 2

amodb=27

*30 % 24 = 6o]c}.
* 30 % 247} Q] ofHB=®
+ gcd(30, 24) = gcd(24, 30 % 24)°]ct.
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+ gcd(a, b) = ged(b, a%b), a>b

«olH 49 09] HFekr= 7| xpAlolTh
* %, ged(n, 0) = nolcth.

// A°1&B3l(prime factorization, integer factorization)
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2) 9, 60 + gcd(96, 60) = ?
2 ) 48, 30 |
3) 24,15  0cd(60, 96%60) = ged(60, 36)
8, 5 * gcd(36, 60%36) = gcd(36, 24)
« gcd(24, 36%24) = ged(24, 12)
gcd(96, 60) = 2 X 2 X 3 =12 | «gcd(12, 24%12) = gcd(12, 0) = 12
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https://ko.wikipedia.org/wiki/%EA%B8%B0%EC%9B%90%EC%A0%84_300%EB%85%84
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E|tiZot F5171(a)b)

a=36,b=10 a=60,b=3 a=7,b=4 a=9%,b =061
gcd(a, b) gcd(a, b) gcd(a, b) gcd(a, b)
= gcd(36, 10) = gcd(60, 36) = gcd(7, 4) = gcd(96, 61)
= gcd(10, 6) = gcd(36, 24) = gcd(4, 3) = gcd(61, 35)
= gcd(6, 4) = gcd(24, 12) = gcd(3, 1) = gcd(35, 26)
= gcd(4, 2) = gcd(12, 0) = gcd(1, 0) = gcd(26, 9)
= gcd(2, 0) =12 =1 = gcd(9, 8)
=2 = gcd(8, 1)
= gecd(1, 0)
=1

+gcd(a, b) = ged(b, a%b), adb

c ol =0} 9] HefFefa—= xt7| XpAlolrt.
+Z, ged(n, 0) = nolth

/] & HA7t MEA IHAIO|H gedL: 10|Ct,
cgcd(a, b) = ged(@, 4) =1
«gcd(a, b) = ged(96, 61) = 1

*gcd(a, b) = ged(60, 36) = 12 — 603} 36 A 247} ofytt,
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C Python
int gcd(int a , int b)
{
if (b==0) /| #E2ZH | def ged(a, b):
return a’ if b==0: #ra 27
else
AT tl‘_'_ A==
=AU return gcd(b, a%b); return a #L012|==0
(*HL) |y else:
int gcd(int a, int b) return gcd(b, a%b) #LHZ|!=0
{ print (gcd(24, 30)) H#HEZH 6
return b ? gcd(b, a%b) : a’
}
int- ?Cd("\t a, |nt//b)|_{*u-l7\| def ng(a, b):
int r;
i I= . |=
while(bX /] bl=01t 72 while b 1= 0 #LHZ|1=0
r=a % b, r=a % b
I:nl_lhg'?:?‘)lk‘ a=>b a=>b
b=r b=r
’ . return a HLIMZ| 7L 0y
return a; _
} print (gcd(24, 30)) H#HEZH 6
// TR wiMlo] OISt Atk (ged)E Fote YalE|Eoltt
C Python
int main() { a=120
int a =120, b = 45; b =45
while(a = b) { while a I= b:
HpEOLA if@ >b)a=a-b if a > b:
=T e else b=b-a a=a-b
} else:
printf(“%d”, a); /l &8 115 b=b-a
} print (a) # &3 .15
- FEHE SAHe AZFEHE ¢ Ologn)
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